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Question Number : 1 Question Id : 4509386561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Letf(x)=3t2xand g (x) = (fo fofo...ntimes) (x).
¥n € Nifall the lines y=g (x) pass through a fixed point (c. ), then o+ =
f(x)=3+2x DBAW g,(x) = (fo fof{}.....n@“@) (¥) ©DOHOTF0. ®J) nEN

O y=g (x) BDEN ©) 28 I8 D0 (0. B) 750 8, a+p =

Options :

—3



®

—3
3. %

—6
4.+

Question Number : 2 Question Id : 4509386562 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax— {'!‘{

55 2 then f(x) 1s

Leta > 1and0 <b<l. If f: R = [0,1] is defined by f(x) = {

a > 1000000 < b<l @hE0d. f:R- [0,1] &, f(x)= [LW O 06 SO,

b*,0 <

B
e_»

SONEEY
Options :

A bijection

2,8 & 5D 1050 0530

One-one but not onto

29 5530 57 DO S°CH



Onto but not one-one

QO 5°Q) 9D 5530 5D

3_ W
Neither one-one nor onto
DOHRe300° S°CDH @9 §8a° S°CD
4. v

Question Number : 3 Question Id : 4509386563 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

¥ 1 1

3.7 * o . ¥ 11.15 &

1 1 1

-+ to 50 terms =

Options :
50
203
1. %
50
609
2.
150
203
3. %



Question Number : 4 Question Id : 4509386564 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Y
IfA=|2 1 3|.then A2 — 544+ 61 =
3 Z 4
1 8 2
Azlz 1 3| ®on®. 42 — 54 + 6] =

3 2 4
Options :

g 4 0

3 8 4

&0 32
1. %

8 4 0

3 6 4‘

4 0 14
2. %

8 6 0

3 8 4

2 0 14
3. ®

g 4 0

3 8 4

4 0 14




Question Number : 5 Question Id : 4509386565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sum of the positive roots of the equation

2 :2¢ xb2 1
2x4+1 x—1 1|=0is
y iy —1 1
2y xib2 1 B "
2+1 x—1 1] =0 IS0 BnE) BdSrere Inedo
x+2 —1 1
Options :
1++13
2.
1.9
1
2. %
Jiz—1
2
3. %
3
4, %

Question Number : 6 Question Id : 4509386566 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the solution of the system of simultaneous lnear equations x +y—z=6,3x+2y-z=5
and2x—y-2z4+3=0sx=ay=Fz=y.thena+f =
X+y-2=63x+2y-2=52-y-22+3=0 &% 85O & ANESETO)

590 ORE) IO x = a,y =,z = y VOB, o + 8 =

Options :

e
1. %

2
2. ¢

1
3. %

—2
4, ®

Question Number : 7 Question Id : 4509386567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
., L o B
If the point p represents the complex number z = x + iy in the argand plane and if pl
purely imaginary number then the locus of p is

W, af W LY 5 W W, Voo af Z+i
ST°06 H0S08 p o) &G 025 2 = x +iy & DOV o DHQ

£€)16b 0T LONS, p BN, DOHNG0

Options:

1. %



x24+yv2+x—v=0and(x,v) = (1,0)
24+ yi+x—y=0080 (x,y) = (1,0)

x*+y?—x+y=0and (x,y) = (1,0)
x2+y2—x+y=0080 (x,¥) # (1,0)

2.9
x24+y2—x+y=0and(x,v) = (1,0)
x2+y2—x+y =008 (x,y) = (1,0)
3. %
2+yi+x+y=0
4. %

Question Number : 8 Question Id : 4509386568 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
= {zeC / |z + 1 — i| = 1} represents
S={zeC/ |z + 1 —i] = 1} QrDODDTE

Options :

the circle with centre at (-1. 1) and radius 1 unit

S0(¢0 (=1, 1) 080N 5ardo 1 ATIE M (e 59550
1.¢

2. %



the circle with centre at (1. -1) and radius 1 unit

501850 (1. —1) S08AN arsard0 1 S T 1o yedsin

the closed circular disc with centre at (1, -1) and radius 1 unit

30(40 (1. —1) sHBOSW TFrG0 1 ARTIED T K TS HOE0

the closed circular disc with centre at (-1.1) and radius 1 unit

S0(0 (=1, 1) HOAN arsardo 1 ALY T He) 2.8 ST Do

Question Number : 9 Question Id : 4509386569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If cosa+ cosff +cosy =sina + sinff + siny = 0 then

(cos®a + cos®B + cos®y)? 4 (sina + sin®f + sin®y)? =

cosa+cosff +cosy =sina +sinf +siny = 0 @O

(cos®a + cos®B + cos®y)? + (sin®a + sin®f + sin’y)? =

Options :
1
1. %
3
4
2. #



0| O

Question Number : 10 Question Id : 4509386570 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If « and [ are two double roots of x% + 3 (a + 3)x — 9a = 0 for different values of a (@ > B).
then the minimum value of x% + ax —f = 01
a O08) DAY NSO 1243 (a+3)x -9 =0 e HIHE reren o f

(@> ) OOV 1%+ ax — f = 0 G0E) $a) DOV

Options :
69
.4
1. %
69
4
2. ¢
35
4
3. %
35



Question Number : 11 Question Id : 4509386571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 2x% 4+ 3x — 2 = 0 and 3x% + ex — 2 = 0 have one common root, then the sum of all possible

values of o 15

22 4+3r-2=00000 32 +ax—2=0 028 o8 sirer) $Oh &) a

50 C200NE DN o

Options :

=R
1. %

fi5]
2.9

S
3. %

2
4, %

Question Number : 12 Question Id : 4509386572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the sum of two roots of x* + px? + qx — 5 = 0 is equal to its third root, then p(p® — 4q) =
Bprddgr-5=0 0 B0 Hrere) IS TR PG FEFS

DaTRI0 ONE p(p? - 4q) =

Options :



—20

1. %

20
2 %

40
3. ¥

—40
4, #

Question Number : 13 Question Id : 4509386573 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IFP(x) = x° + ax* + ba® + cx® + dx + e is a polynomial such that P(0)=1, P(1)=2, P(2)=5,
P(3)=10 and P(4)=17, then P(5)=

P(x) = X+ axt + b2 + ox? + dx + e ©F 2008 P(0)=1, P(1)=2, P(2)=5, P(3)=10
B0 P)=17 ©TD3EED &OD), P(5)=

Options :

26

146

126



Question Number : 14 Question Id : 4509386574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a polygon of n sides has 275 diagonals. then n 1s

A, E'IJ o, — ) [¥.4
n 2925 &) DTVEHRET Q) T HOWS 275 9ONE 1 DN

Options :

25
1.¢

35
2. %

20
3. %

15
4. %

Question Number : 15 Question Id : 4509386575 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of positive divisors of 1080 1s

1080 O305) QO 2PB5*O QOWDS

Options :



LS
=

1. %

32
2. ¥

23
3 %

31
4. %

Question Number : 16 Question Id : 4509386576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

n

i oo r
lf .~ Z then Z? -

fl
r=0 C-,- r=0 - g
" I i I
an: HC" @GJJ@ Z FEC1 =
=0 r r=( r
Options :
(n—=1)a,
1. %
n.a,
2. %



{T?Hi

Question Number : 17 Question Id : 4509386577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
s . : 1 X5
The coefficient of x° in the expansion of (2}:3 — 3—) 15

x2

(2x3 —5}5 e B ANGES x5 B, Heaso

Options :
8
1. %
9
2. %
80
9
3. v
29
3



Question Number : 18 Question Id : 4509386578 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 35
1 — 4 to oo =
i > + —I— TED S
il 135 .
1+-= + +—+ e 00 HOB=
3 3.6.9
Options :
V5
1. =
2. %
V15
3. ®
V3
4. &

Question Number : 19 Question Id : 4509386579 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A Bx+C 1
If = : then C =
x—a +_x2+b2 (x—a)(x2+b?)
A Bx+C 1
= OOV € =
= AED® (x—a)(x2+b2)
Options :



a2 b2
1
e
2. ®
—a
a? + b?
3. ¢
a
a4 b?
4, %

Question Number : 20 Question Id : 4509386580 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. 3 5 7 o [k [k
If cos*Z + cos* Z + cos* 2 + cos* =~ = k then sin 1( [) + cos 1(—) i
8 8 8 8 \(2 3

s am 5T in W i k 1k
cos"'g i cosd’? + c‘os‘*? + cosd’; = E‘Jm}@r @@);(f&) sin”? (\B + cos? (;) =

Options:
21

1.¢ :
31
4



AN

| S

Question Number : 21 Question Id : 4509386581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

cos 10° 4+ cos 80°

sin 80° — sin 10°

Options :
tan 35

1. =

tan 55
2.

tan 20°
3. %

tan 70°
4, %

Question Number : 22 Question Id : 4509386582 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

sinl +sin2’+. ..+ sin89
2(cos1” +cos2°+. . .+ cos44’)+1

Options :
V2
1. %
1
V2
2.
2
3. %
1
2
4, %

Question Number : 23 Question Id : 4509386583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of ordered pairs (v, ) satisfying the equations
sinx +siny = sin(x+y)and |x| +|y| =1is
NanEBETeN sinx +siny = sin(x +y) DBAN [x] + |yl = 1 O SIS (x, 1) (5

O 0D

Options :

b-J



L]

Question Number : 24 Question Id : 4509386584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

an = an -0 an 39 —
Options :
12
1. #
T
2. % Z
T
4
3.¢
IT
3



Question Number : 25 Question Id : 4509386585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If 5sinhx — cosh x = 5. then one of the values of tanh x 1s

5 sinh x — cosh x = 5 @QNS, tanh x TNEY DSOS 2,5¢3

Options:
2
5
1. %
2. %
=3
B
3. ¢
-1
4. =

Question Number : 26 Question Id : 4509386586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC,ifr; = 4,1, = 8,13 = 24 thena =
AABC S 1y = 4,1, = 8,13 = 24 ©ONS a =

Options :
0
1. %
16
V5
2.
16V5
3 %
V5
4, %

Question Number : 27 Question Id : 4509386587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a circle 1s mscribed in an equilateral triangle of side a, then the area of any square (in sq. units)
mseribed m this circle 1s
20250 a T HOAS 28 AT (BhENS 28 HTR) wosdd), &

598508 ©080D0NRAS ATT V(N0 TNE) FFOI0 (1. FAOS)

Options :



V3

2_ w
o

2'\.."?
3. %

23

6
4, &

Question Number : 28 Question Id : 4509386588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the items of List-I with those of List-II (Here A denotes the area of AABC )

PNTLS D BOTON, ZOT-I S 2 FES ST

(28 AABC ITR) A ATDN0G)

List-I List-1I
(&Zd&-]) (de-I)
(A) th 4 0 |, 5 &
(at+b+c) m
(B) Z A 111 T O |
cotz (a*+b"+c }ém
(C) | IftanA:tanB:tanC = 1:2:3,thensinA:sinB:sinC = | (III) | 8:6:5
tanA:tanB:tanC = 1:2:3@:9(11)@. sinA:sinB:sinC =
(D) Ifcotg:cot%:cot%: 3:7:9,then a: b:c = (V) | 12:5:13
A B C VY,
cot—:cot-: cot> = 3:7:9 ONS, @0) ) a:b:c =
V) |V5:2y2:3
(VI) |44

Then the correct match 1s
" —— 6
©9))C0 8D Z

Options :

A-VI; B-I; C-II. D-III

A-II; B-I;, C-V; D-II

A-Il; B-VI; C-V; D-I




2eNE Bl Gk DWW

Question Number : 29 Question Id : 4509386589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let 0 @ AGHE + D B (—21_'+3D.C (2? + j_) D(ﬁ}aare position vectors of the points O, A, B.

C and D. If a line passing through A and B intersects the plane passing through O. C and D at the

point R. then position vector of R is

0, A, B, C &80 D © S d&Fe0 0(0). A(+2) + k). B(=2i+3k), €(2i +). D(4k)
©9:0F000. A HBAM B © 00 FED 0, 0, C HBAN D © o0 FA
$eP) R SO 20EW, R BuE) 6

Options :

—8i — 4j+7k
1.¢

2i4+j+k

4, %



Question Number : 30 Question Id : 4509386590 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

:l_.l

= |
=
"‘I

EBEm@a@@cﬁm&ém ad = a+ b+ <. fa = b+ ¢+ d ©ONS |a+ b+ c+d|

- are non-coplanar vectors. If ad = a+ b+ ¢, fa = b+ o+ d. then | +hte

Options :
1
1. %
2
2. %
|la— b- ¢
3. %
0
4.

Question Number : 31 Question Id : 4509386591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

u, v, w are three unit vectors. Let p=
and v=Kgq. then K=

7. WE) O AOFeN. p=1+T+W.g = UX (7 X W) ©DNO0. 5.1 ==,

p.v==Ipl=2 500 7=K7. @B K=

Options :



Question Number : 32 Question Id : 4509386592 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The distance of the point O(ﬁ] from the plane 7 . G+j+f{)=5 measured parallel to 2i+37 — 6k is

2 -6F O darossdor FOAIND 0(0) Dok 7.(i++)=5 @

O e drdo

Options:

%]
h

1.4



Question Number : 33 Question Id : 4509386593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @, b are the two non collinear vectors, then ‘Elﬁ + [a| b represents

a,b e $SBPairen 59 Boch &I, [bja + [a] b T SrdotaEe

Options :

a vector parallel to an angle bisector of @, b

a,b © 2,8 5% Do0O DO T Joaad e 2.8 DOF

1.4

a vector along the difference of the vectors a, b

@b dEE B0 Todd e 2,8 JEE

a vector along a+b

a+b Jo26 e 2.8 adE

3.

a vector outside the triangle having @, bas adjacent sides

@, b 0 83 20223060 (i) 2,8 (3202330 20008 e 2,8 DO
4. %

Question Number : 34 Question Id : 4509386594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



x and y are the arithmetic means of the runs of two batsmen A and B m 10 mnings respectively
and o4. op are the standard deviations of their runs m them. If batsman A 1s more conststent than

B, then hie s also a higher run scorer only when
A B0 B oF ad® sy S © T 10 3NN SR HHHo
©0%NEISTE) SO T SO0 T, TS O HEMHO [EHAVOSK0EN
SN 64 DO o5, B 0T A D80e) QO GO SETD WS, BT
D300 DAODHEN TPHODN T SrF 80N GOFTO0T

Options :
a = x
0<—<—; — =1
Jg y ¥
1.9
? JA
— >—>=1
vV Tg
2. %
X o
— < 1
vV Og
3. %
B X gy
s Ja Y e e sl o
y vV Ogp
4, %

Question Number : 35 Question Id : 4509386595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



S 15 the sample space and A. B are two events of a random experiment. Match the items of List A

with the items of List B.

ListA ListB
I |A.Bare mutually exclusive events | a | P(4 N B)=P(B) - P(4)
II | A. B are mdependent events b | P(4) =P(B)
II|ANB=A c| /4
Pl=|=1-P(1)
B
IV|AUB=S d|P(AUB)= (A) P(B)
¢ | P(4)+P(B)

28 OSPBYDE (HABRHOS § FODO B38ESD HBOM A, B &0 Boch exse.
HEE A SR 07D, HEEB SR FES 2STH0S.

288 A S8 B
I | A,Be) 000 afed nerden a |P(ANB)=P(B)-P(4)
I | A,B e Q50 03N b | P(4) < P(B)
M | ANB=A ¢ | /1
P(=]=1-P(4)
B
IV | AUB=S d | P(AUB)=P(4)+P(B)
e |P(AP(B)=2

Options :

(I-e) (II-d) (I-¢) (IV-b)

1. %

(I-a) (I-¢) (I-€) (IV-b)
2. %

I-d) (II-¢) (I-b) (IV-a)
3.

(I-b) (II-d) @I-a) (IV-c)



Question Number : 36 Question Id : 4509386596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
P(AJANB)+P(B|JANB) =

Options :

1

1. %

P(AUB)

P(ANB)

I~

Question Number : 37 Question Id : 4509386597 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two digits are selected at random from the digits 1 through 9. If their sum is even. then the

probability that both are odd 1s
1 0 9 8% e @030 Hod ATy S0 3ot B05EN oS AAN.

763 300 D8 oD WONS, & ©0TeN TOAT 2 DOVLEN BTDS 0P

Options :



oo wa

1
2% 2

5

8
3.¢

3

4
4. %

Question Number : 38 Question Id : 4509386598 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A. B. C are mutually exclusive and exhaustive events of a random experiment and E is an event

that occurs in conjunction with one of the events A, B. C. The conditional Probabilities of E given

the happening of A. B. C are respectively 0.6. 0.3 and 0.1. If P(A) = 0.30 and P(B) = 0.50. then

P(CE)=

A, B, C 2 2,8 OIPCD)8 (DASFH00R0E) 266 D06 g soddeien ahBodn &

DHOKOS 28 A HoTrH0S 267 NS E. NS A, B, € 0 28082 E

08, A0HED 02T ST 0.6, 0.3, 0.1. P(A) = 0.30, P(B) = 0.50 @O0 S

P(CIE) =

Options :



35
2. %

18

35
3. %

17

35
4. %

Question Number : 39 Question Id : 4509386599 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For the probability distribution of a discrete random variable X as given below. the mean of X 1

X=x |-2| -1 0 1 2 3
P(X=x)| 1 2 J 3 4 2

— |K+— | Kt— | K+ — | K+— | K+ —
10| 10 10| 10| 10| 10

8065 B s 28 @508y APy DOTR X T, 0TI erEdo
%) X Q308 @08 a0

X=x =gl =] 0 1 2 3
P(X=x)| 1 z 3 3 4 2
— | B! Keo—| Kol K| Ko
10 10 10 10 10 10
Options :



v o

2. ¥

6

5
3, %

8
4% O

Question Number : 40 Question Id : 4509386600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a random experiment, two dice are thrown and the sum of the numbers appeared on them 1s
recorded. This experiment is repeated 9 times. If the probability that a sum of 6 appears at least

ik P i B e ALt A Py, i Py
2,8 OSPC30)8 INAFH0S” Boch FDEOD I R T HowsO TR
Nare) D, & (DTFTR), 9 FD HSTYB0 Tardd. T3 ST 0VSO
080 N0 2.8 *PB 6 D) V0T Pr SHOOKH N0 28 FP8 8 )

N02T5eh Py 0N, PPy =

Options :



1:1
4.

Question Number : 41 Question Id : 4509386601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the line segment joining the points (1.0) and (0.1) subtends an angle of 45° at a variable point P,

then the equation of the locus of Pis

28 G0 P G (1,0) N0 (0,1) DOHYD ) TR0 450 © §690

D 0T, P B0E) Do D380,

Options :

(2 +y?—1D)(x*+y*—2x—2y+1)=0,x#0,1

1.4

[_1{’2 + }.72 _ ]_j(_)(’z + :\,"2 + 2x + 2}7 . 3 l) - ij = 0, 1

2. %
x2+y?+2x+2y+1=0
3. %
x2+y2=4
4, %

Question Number : 42 Question Id : 4509386602 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the origm 15 shifted to a pomt P by the translation of axes to remove the y-term from the
equation x* — y% + 2y — 1 = 0, then the transformed equation of it is
Aoy +2y-1=0 da00E0 D0G ¥ TR SON0NERE darosd ©f

D058 @50 re D0chaYed P Dotie HA% 6 )N00NS, TR Eraross

NSHWo Al
Options :
e |
2 —yt= @
2. ¥
x2 +y2=1
3. %
x2+y2=0
4, %

Question Number : 43 Question Id : 4509386603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A line L intersects the lnes 3x —2y —1=0and x 4+ 2y + 1 =0 at the points A and B. If the

pomnt (1. 2) bisects the line segment AB and E -I-E = 115 the equation of the line L. then
at+2b+1=

L 9% 28 OG0 3x — 2y — 1= 00808 x + 2y +1 = 0 dJTDODH A HOCIN B
D00 O DOAN0A. AB TR0, (12) DOhe) DA SD0S TV
B0k 09 L AR08} bR +1 = 10000@ a+2b+1=

Options :

=

-2

4.

Question Number : 44 Question Id : 4509386604 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A line L passing through the point (2, 0) makes an angle 60° with the line 2x —y +3=0.IfL

makes an acute angle with the positive X-axis m the anticlockwise direction. then the Y-intercept

of the line L1
2,0) Dochs) Hom FOD L T 2.8 0D 2x — y +3 = 0 3D 60° 90 DADOA. &

X-0508 5SOIES L2 0080 TP 0%, 32 L B0E) Y-0068 200

Options :



10v3 — 16

11
1. %
32
V7
2. %
16 — 10V3
11
3. v
2
4. ®

Question Number : 45 Question Id : 4509386605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the slope of one line of the pair of lines 2x% + hxy + 6y% = 0 is thrice the slope of the other

line, thenh =

2x% 4 hxy + 6% = 0 32008 2,509 GRE) aTew, B0 0D e arch)

5@@, h=

Options :



4.+

Question Number : 46 Question Id : 4509386606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the equation of the pair of straight lines passing through the pomt (1. 1) and perpendicular to

the pair of lines 3x% + 11xy — 4y2 = 01s ax® + 2hxy + by* + 29x + 2fy + 12 = 0, then

2a-h+b-g+f-12)=

(1, 1) Do HoT e 3x% 4 11xy — 4y? = 0 BIPOINMAS OO0 &OB

Daroinio an86e0 ax? + 2hxy +by? +2gx + 2fy + 12 = 0 ©ONS,

2a-h+b-g+f-12)=

Options :

—+19
3.¢



Question Number : 47 Question Id : 4509386607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Equation of the circle having its centre on the line 2x + y + 3 = 0 and having the lines

3x +4y—18=0.3x + 4y + 2 = 0 as tangents 1s

2x+y+3 =009 S0 $O0 3x + 4y - 18 = 00800 3x + 4y +2=0

Tpe)edd )80 1 i) 398 &

Options :

x*+y*+6x+8y+4=0

x2+yv:i—6x—8y+18=0
2. %

x2+y2—8x+10y+37=0
3. %

x2+y24+8x—10y+37=0
4. &

Question Number : 48 Question Id : 4509386608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If power of a point (4,2) with respect to the circle x2 + y? — 2ax + 6y + @> — 16 = 015 9, then
the sum of the lengths of all possible intercepts made by such circles on the coordinate axes is

X34yt —2ax+6y+a—16=0 S)B50 Sals (4,2) % Dothds 9 eond,
©er0t3 SHEED AGTFHTEANOR DA BoSBINOTO F)O @) 0E3

e

Options :

16 + 46
1.¢

16 + 4V6 — 6V2

2. 3

16 + 46 + 642
3. 3

16 + 642
4. %

Question Number : 49 Question Id : 4509386609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let « be an integer multiple of 8. If S is the set of all possible values of a such that the line
6x + 8y + a = 0 intersects the circle x* + y2 — 4x — 6y + 9 = 0 at two distinct points. then

the number of elements in S 1s
@ 0 8 B8 JFT08 DB BDFOT0. 6x + 8y +a = 0 O T
24y -4 —6y49=0 O3 HYTR) 00D Do & DOBOHNLY

560008 @ G308 BR) AN NN § AN, § N0 HFOTE) HODS

Options :

4
1.¢

6
2. ®

2
3. %

1
4, ®

Question Number : 50 Question Id : 4509386610 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the circles x* +y® —8x— 8y +28 =0 and x? + y* — 8x — 6y + 25 — &> = 0 have only

one common tangent, then @ =

x4+ y2—8x—8y +28=0 0000 12+ y2-8x—6y+25—a =0 SHTEN 25 2.8
e )50 $O8 &)Y, a =

Options:



1. %
a = 2
2. ®
a-—1
3.¥
a=>5
4. ®

Question Number : 51 Question Id : 4509386611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the equation of the circle passing through the points of intersection of the circles

x =2+ vyt —4y—4=0x"+2x+y* + 4y — 4 = 0 and the point (3. 3) is given by

it yitax+fy+y=0thend(a+f+y)=

(3.3) 0D (HOT Ped x2 — 21 + y2 — 4y — 4 = 0 DO

X2+ 20 + 2 + 4y — 4 = 0 5T DOCS DoeY® HOTT FTD SS9 dEBE0

4y fax+By+y=0,80083(a+p+y) =

Options:
32
1. %
—32
2. #



Question Number : 52 Question Id : 4509386612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2:

A common tangent to the circle x? + y* = 9 and parabola y* = 8x is

124y =9 588300 oDBOK y2 = 8x TIPS T3NE) a1 )80
o : o ¢ o)
Options :

3x —V3y+2=0

1. %

x—V3y+6=0
2. ¥

2x —V3y+3=0
3. %

x—3yv+6 =4
4, =

Question Number : 53 Question Id : 4509386613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let F and F? be the foci of the ellipse z—z 22 ;—: = 1(b < 2) and B 15 one end of the minor axis. If
the area of the triangle FBF® is v/3 sq. units, then the eccentricity of the ellipse is

F 8o F en ’i—z +i—z =1(b < 2) HYDB0 G0y TEHEN @AW, B 2T 5840
08 2,8 D8 ©NZI0TT0. FBF! (#2020 G308} 37030 43 1. T eone
BUNyS0 O3E) G@Bpo(e

Options :
wg 1
_0'[1 o—
2 2
1. ¢
1
V3
2 %
w"? 1
4 '
3, %
3 ]
R
4, %

Question Number : 54 Question Id : 4509386614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: : : ity :
If a circle of radius 4 cm passes through the foci of the hyperbola o y:: 1 and concentric

with the hyperbola. then the eccentricity of the conjugate hyperbola of that hyperbola is

2 2 L
4 200 © ardo o 28 Sy %— J’::1 ©9SNTHO0N0 B, THO

HOT ey, & ©BHTHOMOS NZ0B0HN)R0T, & ©BITHOO TuE)
D00 BITHO0 T, &8)0(¢e

Options :

2
1.4

2v/3
2. %

2

/2
3. %

V3
4. %

Question Number : 55 Question Id : 4509386615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2
If a tangent to the hyperbola x* —% = 1 s also a tangent to the parabola y* = 8x. then equation

of such tangent with the positive slope 1s
” g Wy W, LA
% —% = 1 ©SBHTH0N0 AL, AIG0D y2 = 8x DTS e )50

900, Srehy8 e EORS @90l )80 A0

Options :
pis= gpe—m—ras )
y 5

1. %
V—2x%—1=0

2. ¢

2y —4x—1=20

y—2—1=0

Question Number : 56 Question Id : 4509386616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfA(1.0.2).B(2.1.0). C (2. -5.3). D (0. 3. 2) are four points and the point of intersection of
the lines ABand CD 1s P (a. b. ). thena+b +¢=

A(1.0.2).B (2. 1,0).C (2. -5.3).D (0, 3.2) &0 drenth Dochayen HEAN AB, €D ©

DO 0D P (2. b, ¢) HONB, a+b+c=

Options :



1. ¢
-5

2 %
5

3. %
-3

4. %

Question Number : 57 Question Id : 4509386617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The direction cosines of two lines are connected by the relations [ + m —n = 0 and

Im —2mn + nl = 0.If @ 1s the acute angle between those lines then cos 6 =

3och B9e) A §00 0 [ +m—n= 000050 Im - 2mn+nl =0 O NODOTE)

D6 DOTRONDTON. & TO DS O OO0 § NS, cosf =

Options :
6
1. %
1
V7
2.9

3. %



wl A

Question Number : 58 Question Id : 4509386618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance from a point (1. 1, 1) to a variable plane 7 1s 12 units and the points of intersections
of the plane 7 and X. Y. Z —axes are A. B, C respectively. If the pomt of intersection of the planes

through the points A, B. C and parallel to the coordinate planes is P. then the equation of the locus

of Pis

(1,1,1) Doched 0 2,8 580D )0 8 fie) (g0 12 AATALD SO0 & eHer0
1 000 X, Y, Z -5 DO 20NN ST A, B, C 0. T8 ehererdd
NSPOBBOT GO, A, B, C © (Hom DD dere) DO 2ocha) P @ONS, P
RB0E) DocNE dandBeao

Options:

= 144



S R . 1 1. 31
(—+—+——1) — 144 (—+—+—)

x }r z .-Yz J;E 22
3. %

A (i 3 ; I I |
(—+—+——1) = 144 (—+ +—)
X y =z 2 ¢ pd gl

Question Number : 59 Question Id : 4509386619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

NI+ VIF V2 F A+ 20
lim =

x—0 x4

Options :

3
< | =
(6]

1.4

"9‘
< | =
()

{:—\_
3



1

32

Question Number : 60 Question Id : 4509386620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Vx—1

lim—— =
x—1 (cos™1x)2

Options :
1
4
1.+
1
2
2. %
1
2
3. %
1
4
4., =

Question Number : 61 Question Id : 4509386621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



tan(e+1)x+tan 2x

ifx>0
If a function f(x) =< § atx =0 is continuous at x = 0 then |a| + |f] =
indr-tandx
SN aXx 33.1'1 X lf\ {-_ 0
X
tan(a+)xttan 2x
an(a+1)x+tan 2x T

=18 atx =0 O |Da0H0 x =06 BD)S)0 SN, 3

sin 3x—tan 3x

- ifx <0

lal + 18] =
Options :
60

1. %
30

2.9
, 15

3. %
45

4, %

Question Number : 62 Question Id : 4509386622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If V= |‘31_11{.lﬂ X) Tllen 2‘ —=
- AMSOE XL dx2

_. ; a’y _
y = tan(log x), @00 S —

Options:



—sec?(logx)[1 + 2 tanx]

i
sec’(log x)[1 + tan(log x)]
2
2. %
sec(log x)[2 tan(logx) — 1]
x?
3. F
sec?(log x)[2 tan(logx) — 1]
2
4.

Question Number : 63 Question Id : 4509386623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
For x < 0 i[|1u;’]“i""] =
0,

d
x < 0 @000, —[|x]*] =
dx
Options:

(—x)* [-1 4+ log(—x)]

x)* [+ log(=x)]



(—x)* [1 — log(—=)]

(—x)* [-1 — log(—x)]

Question Number : 64 Question Id : 4509386624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If y = x — x2, then the rate of change of y? with respectto x? at x = 2 is

y=x—x2 @008, x = 2 I x2 Yol y2 GR0EY St BED

Options :

0
1. #

—k
2. %

3
3.¢

9
4, %

Question Number : 65 Question Id : 4509386625 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

T =2n [ ¢ 15 a constant and the relative error in T 15 k times to the percentage error in L.

\ g

1
then— =
k

—

T =2 Jg.gm?gmm 5005 T 08 58 B L 308 B Ty

1
k 5D a—mﬁsgz
Options :
2
1. %
1
% 200
200
3. ¢
1
4% 2

Question Number : 66 Question Id : 4509386626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the curves y? = 2x and x% 4+ y? = 8 is

y? = 2x o080 x? + ¥ = 8 J[5°® D550

Options:



1. %
Tan 1(2)
> %
Tan™1(3)
3. v
1
Tan (——)
2
4. %

Question Number : 67 Question Id : 4509386627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the function f(x) = Vx% — 4 satisfies the Lagrange's mean value theorem on [2. 4]. then the
value of C'is
f() =VaZ — 4093 |00 [2. 4] 2 BT 5D NFO; VFTOTR), € a)

DOV, C BEY DV

Options:
Z'urg
1. %
—2v3
2 ®



Question Number : 68 Question Id : 4509386628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x, y are two positive integers such that x + y = 20 and the maximum value of x*y is k at

k
x=a,y=4then——"=
¥l B azﬁz

X,y O 1 +y = 20 ©3NSEIEDT t5ed) TO OdaIPT°05N DA x = a,y = B 3G

[~

= i k
x3y G038} 182 e k @m@az—ﬁz =

Options :
a f
_+_
B a
1. #®
a pf
f «
2. %
a
B
3.¢



a+f
aff

Question Number : 69 Question Id : 4509386629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

~ 2— E :
| % dx = ATan ' x + Blog(x — 2) + Clog(x +2) then 64 + 7B - 5¢ =

. Z_
| % dx = ATan"'x + Blog(x — 2) + Clog(x + 2) wond

6A+7B-5C =

Options :

10

Question Number : 70 Question Id : 4509386630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



g 3x? + 7x8 g
X
J (x2 4+ 2x + 5x8)2

Options :

X?

5x7 +x+ 2

+ic

}C?

+
2(5x7 +x +2)

)
+c
2(5x7 +x+ 2)

_1.?

+
2(5xT + x4 2)

Question Number : 71 Question Id : 4509386631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

dx =

[ cosXx + x sinx

x(x + cosx)

Options :

log|x? + x cos x| + ¢



X

1Dg|—|—|—c
x+cosx
2. ¥

] | COS X |+

08 x +cosx F
3. %

1
logl/——| —logx + ¢
x+cosx

Question Number : 72 Question Id : 4509386632 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2
If[ ’ dx =2log|A(x) — B(x)|+Cand 0 < x ig then B(”@) =

J1+smx

—

g o o R _ .
( Jl ; sinxdlﬂ = 2log|4(x) — B(x)| +€ <000 0 < « =3 @mﬁ,g(r%r) .

Options :

1
*n.,-'fl 243 *g-ra_’

*JI 34 2V2



V3+2V2
2
u‘fz ++2
4, %

Question Number : 73 Question Id : 4509386633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If _dx ==(tanx)B + = (tanx)? + ¢ _
f 2cos 3x4/2 sin 2x 2 ( ) + 10 ( ) + C then 4

- 3
J 2cos 3xy/2sin 2x

3, 3
di = = (tanx)? + ~ (tanx)? + c OB A4 =

Options:
1
2
1. %
1
2. ®
3. % 2



Question Number : 74 Question Id : 4509386634 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o

" x sin® x P

] 4 —cos?x B

=t
Options :

2m(1 —log 3)

1. %

2 (1 31 3)
g 4Dg
3
n(l——lUgS)
4

47(1 —log 3)

Question Number : 75 Question Id : 4509386635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3
J|2 i s
-3



Options :

12
1. %

16
2. %

13
3. ¢

25
4, % ]

Question Number : 76 Question Id : 4509386636 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1
2zaz
1
230 25 dx =
4 VX 3%
Options :
65
4
’|_ E
—75



Question Number : 77 Question Id : 4509386637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Area of the region (in square units) enclosed by the curves y? = 8(x +2), y? =4(1 - x) and

the Y-axis is

y: =8(x+2), ¥ = 4(1 - x) HES0EN HBOM Y-85 00T 858006 [2r0s0

3B, 3TO50 (3. ArAES)

Options :

8 —

5(5_ 3v2)
1.9

G o

E(_'\fz - 1)
2. %

8

5(3 — V2
3. %



-

~(vV2+1)

d

Question Number : 78 Question Id : 4509386638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3
G . dYy dy\2 /2.
The sum of the order and degree of the differential equation et (ﬁ) 18

y
4, 2 '12 . ;
ostos shetain 2=e+(2)]7 ong, 0irmsy Hoay s

RWEAW
Options :
-+
1. #
6
2.
3. % .
8
4. =

Question Number : 79 Question Id : 4509386639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the differential equation (x + v)v dx + (y — x)x dy = 0 1s

(e+y)ydx + (v — )x dy = 0 95500 daDEBe0 Q) s S

Options :

x + vlog(ey) =0

1 %
¥ :
—=log(xv) +c
X

2 %

x + ylog(cxy) =0
3.¢

'.1?'

Y — log(cxy)
4%

Question Number : 80 Question Id : 4509386640 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (y? + x + 1)dy = (v + 1)dx is
(2 +x+ 1)dy = (v + 1)dx ©35O0D HabEGeI0 AB0E) APt arcHed

Options :

x+2+(+Dlogly+1)2=y+¢c



r

x4+ 2+ log(y+ 1)2 =— +c
gy +1) -
2. %
> logly + 1) +y+
= Logty v+
orEa el

3_ w

x4+ 2 ; .

+logly +1)> =y +c

y+1 g\ : )
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Question Number : 81 Question Id : 4509386641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



E,m, L, G represent energy. mass, angular momentum and gravitational constant respectively. The

2

dimensions of e will be that of
m>G2

Em,L,G 00 ST 48, (3035073, S0 (¢9ad33i0 anBAkn Heheds QTr0dsned

T L ELZ L
AP0V, — 20 TA MANVOTAY
m
Options :
Angle
§°c20
1.4
Length
&rCho)
2 ®
Mass
1C30050°%
3 %
Time
S0
4. %

Question Number : 82 Question Id : 4509386642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: ; , , 5 " .
A body starting from rest moving with an acceleration otz ms 2. The distance travelled by the

body 1n the third second 1s:
o o W W 5 — W W W, Wl g
D50 D& DO 2ADNTON 28 SeYay = ms 2 ¢ £83E9a0 & (HOSPEI0T) L) &.

305 28R S Q)Y (HAPEIODD SrBain

Options :
15
g m
1. %
25
— m
8
2.
25
—
4
3. %
12
— m
7
4, %

Question Number : 83 Question Id : 4509386643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A projectile can have the same range (R) for two angles of projection. Their mitial velocities are
same, If T, and T, are times of flight in two cases. then the product of two times of flight 1s directly
proportional to

2,8 |98 %50, Boch T I8 Fsdnod 198 HotadSyh &8 § 8z darosd
752 (R) $O8 006, a7 SO Trren a0, T, HOO T, e S T (53 98
T (0057 TN TR0, 48 TOW (DOIFE S0 ©2a) (506

D0 DENSE BNS SFDHTHOS SO

Options :

4.+

Question Number : 84 Question Id : 4509386644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If |F + 6| = |E| = |E| then the angle between P and E 1s

[P+ Q| = |P| = |Q] @00, P 805 Q SOF a0E5§ §asin

Options :



D_I:I

1. %

120°
2.

60°
3. %

90°
4, ®

Question Number : 85 Question Id : 4509386645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 4 kg mass 1s suspended as shown 1 figure. All pulleys are frictionless and spring constant K 1s
8 x 10° Nm ™. The extension in spring is (g = 10 ms™?)
S0 TTHRASLY 4 ke (335079 (SercBohat08. ©) En)en sdeadirdo

B0 1200 VT°050 K = 8 x 10° Nm ™ 9008 |00 S e (g=10ms?)

4kg

1ririier

Options :

2 mm



2 cm
2.

4 cm
3. %

4 mm
4, %

Question Number : 86 Question Id : 4509386646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 3 kg block 15 connected as shown in the figure. Spring constants of two springs K; and K, are

50 Nm™and 150 Nm™* respectively. The block is released from rest with the springs unstretched.

The acceleration of the block in its lowest position is (g = 10 ms™2)

A0S IIABID 3 kg © OAD OO K, K, O SO
50 Nm2e00050 150 N~ (16 (20 ©8) 827, 120 065 riheie Sessych
B VTR N0 HOEPH. WONB AR TR Aol F'N0 G )Y

¢ 636207 (g = 10ms™2)

kg

K

Options :



10 ms ™2

1. ¢

12 ms ™2
2. ®

8 ms 2
3. %

8.8 ms ™2
4, %

Question Number : 87 Question Id : 4509386647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two bodies A and B of masses 2m and m are projected vertically upwards from the ground with

velocities u and 2u respectively. The ratio of the kinetic energy of body A and the potential energy

of body B at a height equal to half of the maximum height reached by body A is

2m B0 m ($S3THeEN e Toh S Yo A HAAM B 2470 ok §edz
00T SEIT 1 HOO 2u FTOS 28 DITATOD. He0a) A TV (1832 NS
0 ) 238 Seda) A G30E), Hede 38 SO0 e B TI0E) W&z 48 A e

Options :
8:1
1. %
d A |



3. %

4.v

Question Number : 88 Question Id : 4509386648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Abody of mass 2 kg collides head on with another body of mass 4 kg, If the relative velocities of
the bodies before and after collision are 10 ms™ and 4 ms™ respectively. the loss of kinetic

energy of the system due to the collision is
2kg (969507 110 2,8 5:0Y 4 kg (3035073 (1) S0EFE IS DDA AP0
20200, @DIrFAS 0D OO DITTAS ST D) AT, IV

T 10 ms™ HBAM 4 ms™ O, WDIPHO 2 5 ARV RN J9)0

Options:

- 28]

56 ]
2. ¥

84]

42]



Question Number : 89 Question Id : 4509386649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moment of inertia of a solid sphere of mass 20 kg and diameter 20 cm about the tangent to the

sphere is

20869 § |2Pa050

Options :

0.24 kem?

0.14 kgm?

0.28 kgm?
3. v

0.08 kgm?

Question Number : 90 Question Id : 4509386650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wooden plank of mass 90 kg and length 3.3 m is floating on still water. A girl of mass
20 Kg walks from one end to the other end of the plank. The distance through which the plank
moves 18

185295078 90 kg DO rched) 33 m 1) 2.8 TEL 2O AOEET &3) A 3 Bew
0. (A50°8 20kg o) 2.8 2POS 2O 2.8 DG DO DTS VIOH G
39900, 20 56 ¢rdo

Options :

30 cm
1. %

40 cm
80 cm

60 cm
4. &

Question Number : 91 Question Id : 4509386651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a time of 2 s, the amplitude of a damped oscillator becomes : fimes 1ts initial amplitude A. In

e

the next two seconds, the amplitude of the oscillator 1s
o — o, -t o 0 T Vo L o 1
255008 28 @300 Berg0 T8 Z029% HODS T SO L0 HONE A S\};

BEY @D, B Boch DE0RES, Bergo T $05: HBNS

Options :

1.



W
2
2. ® ¢
1
o
3¢ ©
2
32
4. %

Question Number : 92 Question Id : 4509386652 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle is executing simple harmonic motion with a time period of 3 5. At a position where the

displacement of the particle is 60% of its amplitude. the ratio of the kinetic and potential energies

of the particle is

2,880 3 s © BOTN0N $008 N8 (P08 TS0 TN, §80
(25070, T 50206 DBe3S 60% D3 FPI0 WG 8890 G0E), (132 SHOON

03 1 M)

-1

Options :
33
1. %
16:9

2. ¢



Question Number : 93 Question Id : 4509386653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The acceleration due to gravity at a height of 6400 km from the surface of the earth is 2.5 ms ™.

The acceleration due to gravity at a height of 12800 km from the surface of the earth is (Radius of

the earth = 6400 km)
5 GOS0 DG 6400 km &) I DS S 6 (30 2.5 ms ™% 4T B0
0E 12800 km )¢ 56 (ke s ¢ 583690 (25 7580 = 6400 k)

Options :

1.11 ms—2
1.9

1.5 ms 2
2. ®

2.22 ms 2

1.25 ms 2



Question Number : 94 Question Id : 4509386654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the load applied to a wire 1s increased from 5 kg wt to 8 kg wt, the elongation of the wire
mcreases from 1mm to 1.8 mm. The work done during the elongation of the wire is

(Acceleration due to gravity = 10 ms™2)

2,8 15 ©903008ES 22T §kgwt KOG 8 kg wt K O, S’ P
Tmm 0B 18mm & DOTD. of FHAeS 2600 9 (hddehs éb 5580 =

10 ms'z)

Options :

47 x 1073

72 x 1073 ]

25 x 1073 ]

a7 w il %]

Question Number : 95 Question Id : 4509386655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The radius of cross-section of the cylindrical tube of a spray pump is 2 cm. One end of the pump
has 50 fine holes each of radivs 0.4 mm. If the speed of flow of the liquid mside the tube 1s
0.04 ms™?, the speed of ejection of the liquid from the holes is

28 () D02 WS DTS F5r00 2 em. 08 2.8 DG 2883 0.4mm
TG0 fe) 8 Bo|Gren 50 G0N, )0 SN0 (B [DeF 56 0.04ms™

o GO|FT'O 0 AR |50 S
Options :

6 ms !

Question Number : 96 Question Id : 4509386656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The temperature difference across two cylindrical rods A and B of same material and same mass
are 40 °C and 60 °C respectively. In steady state, if the rates of flow of heat through the rods A and

B are m the ratio 3 ¢ 8. the ratio of the lengths of the rods A and B 1s

23 erGod Tohad, 28 (33507 o A OO B & Todk T §Go
D00 D5 10 G BTen ST 40°C HOAN 60°C. AOE IBES, A
5805 B 30 500 Gy BE0e D)8 3:8 ©and, A SO0 B §Go
Chaden AN

Options :

1-3

5:3

4-3
3.

St

Question Number : 97 Question Id : 4509386657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a Carnot cycle is = By lowering the temperature of sink by 65 K. it increases to
1 51 5 |
- The itial and final temperature of the sink are

28 58 D0 Gg) G86 - . berdaHo GfidD 65K dfochey T o o

(=

csggméso 20T, 300 Jeeriaho Tty O $HBak &6 G S
Options :

400 K, 310K
1. %

525K, 65K

309 K,235K

325K,260K
4.

Question Number : 98 Question Id : 4509386658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ina cold storage. ice melts at the rate of 2 kg per hour when the external temperature 1s 20 °C. The
minimum power output of the motor used to drive the refrigerator which just prevents the ice from

melting is (latent heat of fusion of ice = 80 cal g™)

2 G516 20 °C G05) ek, 2.8 980 AR S0t KoL 2 kg B 5509
$Henod. Hoth Ehded 80D, O OWOTE ORIV TALN
&IOPA0T FPErdh GINE) SN AGe Rrandseiy

(002D | s P20 =80 cal g2

Options :

28.5W
1. %

13.6 W
2. ¢

9.75W

16.4W

Question Number : 99 Question Id : 4509386659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A Carnot engine has the same efficiency between 800 K and 500 K. and x > 600 K and 600 K.

The value of %" 1s

2,858 AH0[$0 800K $HBAM 500K, x > 600 K DB 600K © ¢ 2.5 38 ey
400 000D, BONS % NN

Options:



1000 K

1. &

960 K
2. %

846 K
3. %

754 K
4. %

Question Number : 100 Question Id : 4509386660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the temperature of a gas is raised from 27 °C to 90 °C. the increase in the rms velocity of

the gas molecules 1s
2,8 P0Ia) G308, &S 27 °C HOG 90°C 0 DOWda))ch), & O8N e
rms SHOS DEHEE

Options :

10 %
1. ¢

15 %

20 %
3. ®



17.5 9%

Question Number : 101 Question Id : 4509386661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the frequency of a wave is increased by 25%, then the change 1n 1ts wavelength 1s (medium not

changed)
2,8 SO0 G308 TSy 25% OB, R BBoKTEE506 A 7)) (GirSE0
Sr68)

Options :

20% increase

20% DM

1. %
20% decrease
20% 5D
2.
259% increase
25% 20
25% decrease
25% 5D
4, %

Question Number : 102 Question Id : 4509386662 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object Iying 100 cm mside water is viewed normally from air. If the refractive mdex of water
4 : 2l
e then the apparent depth of the object 1s

DB N 100 em 3¢ 110 2,8 S eYoD TPOS' (06 ©02OT LrF e, e 8853

4 e
(heago ; NS, & I Da) TE) (985 Se

Options :

100 cm

50 cm

25 cm

7hcm

Question Number : 103 Question Id : 4509386663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Young's double slit experiment. two shits are placed 2 mm from each other. Interference pattern
is observed on a screen placed 2 m from the plane of the slits. Then the fringe width for a light of

wavelength 400 nm 1s

00 & 5005 )T Toch DOZOD 28mATES 2 mm S80S @507,
58868 o5, DO B0 Hof 2m Erdod G0 B HBID0TE.
$E01TY50 400 nm EOAS SO HE3 Fchen)

Options :

04107 ®m

4%x107%m

0.4%x103m

400 m
4. %

Question Number : 104 Question Id : 4509386664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two spheres A & B of radii 4 cm & 6 cm are given charges of 80 nC & 40 C respectively. If they
are connected by a fine wire. the amount of charge flowing from one to the other 1s

TSTEN 4 cm oDBOW 6cm (96) A DGO B T O Feme)8) DT 80 uC & 40
1C BS3Te0 2505, 8 30ch Fred 99 A 098, 28 f¥o Dok
OGNS FmR8 (NPT ANITTRF0 067



Options :

32uC fromBto A
B DO A B0 32 uC

1. #

32 uC fromAto B

A DO B 5 32 uC
2. ¢

20 uC fromAto B

A Ho& B 8y 20 uC
3. %

16 uC from B to A

. B DOG A5 16 uC

4,

Question Number : 105 Question Id : 4509386665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the electric dipole moment of a dipole and the electric field strength

due to it on the equatorial line 1s
28 B BN ABEY) AJZTNTS, 8 A0 TBE) NS
©0D0DZ) DDA DO 36 DS 3 (@RS Sied3 §e0

Options :



90°

180°
3.

270°

Question Number : 106 Question Id : 4509386666 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two condensers ;& C, in a circuit are joined as shown in the figure, The potential of point A 1s V;

and that of point B is V;. The potential at point D will be

. } I 3 } ’
B
: g 2 g

Sr00 e ¢ HOAD ¢, O NS BFRSL dogro Bohadaron. A

B0 B DOched® SO PTVOHO DT ¥, D050 ¥, @ons, D HONs) 96

FDIHO
b0 \ b
¢ & ]
A | I ;
C G
Options :
1
5 V1 + V)
1. %



C,Vy + G115
C; + 65

iV + GV,

C G
3 v 1+
CVy — GV,
A gl 0
4, %

Question Number : 107 Question Id : 4509386667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A block has dimensions 1cm,2cmand 3em. Ratio of the maximum resistance to minimum

resistance between any pair of opposite faces of the block is

2,8 O Ghg) Treden 1em, 2em DO 3em. AT TG o) BO BN
ere) Y3 (10a) OO §Ra) AOTFE )&

Options :

9:1
1.4

1:9
2 %

18:1



6:1
4, %

Question Number : 108 Question Id : 4509386668 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A current of 6 A enters one corner P of an equilateral triangle PQR having three wires of resistance

2 () each and leaves by the corner R as shown in figure, Then the currents I and [, are respectively

25358 20 G0 Hrch BSOS POR ©F HDm [812Hz0 TanaAI.
6 A DCHSS [NaTiT0 (B0 ) P XX & 507 S8 (53300 0SS r D

R S0 T 50° A8 D00, 90N DD (DaToFeN Iy, I € ST

Options :

4A2A
1. %

3A3ZA
2. %

6A0



2A,4A

Question Number : 109 Question Id : 4509386669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of shunt resistance, that allows only 10% of mam current through the galvanometer of

resistance 99 Q 1
DBE0 992 150> T SRTE0 T 507 (GRS AEDES (HTTOS SO0 10% g

908 23, 208 ABG0
Options :

20

4Q

11 ©2

Question Number : 110 Question Id : 4509386670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In hydrogen atom an electron is making 6.6 * 10 rev/s around the nucleus of radius 0.47 A. The

magnetic field induction produced at the centre of the orbit is nearly
TPEES N0TEIS 28 JOFD 047 A 50 Ko T0i8E0 WEF EHH
6.6 % 105 DB(BDETEN DNNYLD. O[T §55 T0(I0 ¢ ©ODRIL06h T (& |8

2N T

Options :

0.14 wh m™?
1. %

1.4whm™?
2. %

14 wh m™2
3.v

140 wh m™2
4. %

Question Number : 111 Question Id : 4509386671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Any magnetic material loses its magnetic property. when 1t is

DB @AN08 D0 e )ch TR @OHRT 06 ST §S )0
Options :
Dipped in water

DS’ SN0

1. %



Dipped in sand

i RDES” SNODIHCH
2.

Attached to an iron piece

2,8 Qe 08250 @380 S0
3. %

Heated to high temperature

@95 G 11695) DA VIR CD
4.

Question Number : 112 Question Id : 4509386672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When two coaxial coils having same current in same direction are brought to each other. then the

value of current m both the coils
2.8 O3S DT DN (D), Boch P8 B O LTRSS
ST Bk, 8 Boc SIHINHOS DEDIS (NTeF0 e

Options :

Increases

DD TOCDOE

1. %

Decreases

8 3Nod
2. ¢



Remains same

SPGB0 VSO GoeNOH

Increases in one coil and decreases in other coil

a8 SHNES’ S9OTOE HFE QS §5N0H
4,

Question Number : 113 Question Id : 4509386673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A resistance of 20 () 1s connected to a source of an alternating potential V = 200 sin(10mt). If t s

the time taken by the current to change from the peak value to rms value, then 't’ is (in seconds),

V = 200sin(10mt) 52068 FOV0HO BI5RE 20 0 ATA0 00008, R Dcid
IO 30 Densd AOG rms DENSE) SPEFTAS DT 't BSOS 't e

S oF
Options :

LA i L
1. %
25% 1o

25 x 1072

28 1072



Question Number : 114 Question Id : 4509386674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The average value of electric energy density in an electromagnetic wave is.

[where E, 1s peak value]

oy af af s ] oy A e W, o W
2,8 D giahary 06 edGorod Ache 48 r0|cded TREY MED dened?
[E, 30 2eNa]

Options :

EIJ Efms

) -+

1. %

1

E €o Eg
2. %

3}

E €o Eo
3. %

1

E Eo Eg
4.

Question Number : 115 Question Id : 4509386675 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An electron of mass ‘m’ with initial velocity v = v,i (v, > 0) enters in an electric field E = —E,
[E, is constant > 0] at t = 0. If A is its de-Brogli wavelength initially, then the de-Brogli wave

length after ime ¢ is

m (S50 7 = vy (vp > 0) SO0 50 2.8 JOFTD E = —Eql (B, > 0) 50 dchgd
5160 SR8 =08 (N390008. & oFS &6 &S o B0 1 ©owS, ¢
500 056 A1 ol BYs0.

Options:
A
e E,t
e
mv,
1.4
A

2
-5

2. %
e Egt
(1+ ) A
mv,
3. %
eE 12
(1 £ B i, ) A
mv,
4, %

Question Number : 116 Question Id : 4509386676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1t — meson of charge ‘e’. mass 208 me moves in a circular orbit around a heavy nucleus having
charge +3e. The quantum state ‘" for which the radius of the orbit is same as that of the first Bolr

rbit for hydrogen atom is [approximately]
&S50 ‘¢, (53503 208 me 1) 2.8 p- O +3¢ SIH0 Ho) 2rUT0|BE0 ey
S9TES 8855 BNMHK0D. O TI000 DB 7* H A 855 G0 BB
DBSPEN) TBE VA 5D E58 FEITRE NPT RO [P

Options :

n=20
1. %

n=25
2. ¥

n=28

n=29

Question Number : 117 Question Id : 4509386677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A nucleus with atomic mass number A’ produces another nucleus by loosing 2 alpha particles, The

volume of the new nucleus is 60 times that of the alpha particle. The atomic mass number A of the

original nucleus 1s

A (555078 208 (10 28 S01980 BOch Ber) SeTrered) TS )3B0 o 507 TS §éh

S0[00S) et e T0D. & & So|d8o GE) MdNdarEo ser) §e

NNBSPETAE 60 TEY, ONB SE) 0|¢H BTN |5e3078 03 (A)



Options :

228
1. %

238

248

244

Question Number : 118 Question Id : 4509386678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A full wave rectifier circuit is operating from 50 Hz mains, the fundamental frequency in the ripple

output will be
28 o8 0001 505 86 HOODHO ARF00CD 50 Hz © Pdeed 50 SnBI0.

&3 508,065 AJeiad S0 BB DD (eI )50 DV

Options :

50 Hz
1. %

70.7 Hz
2. %

100 Hz

3.v



25 Hz

Question Number : 119 Question Id : 4509386679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A PN junction diode 1s used as

Options :

An amplifier

Q50
’|_ )
A rectifier
DEEE) B3
2.
An oscillator
EeESnm
3. =
A modulator
S §SED m
4. %

Question Number : 120 Question Id : 4509386680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A carrier 1s simultaneously modulated by two sine waves with modulation indices of 0.3 and 0.4;

then the total modulation index 1s

STABAR (HEISEN 0.3 HOOK 0.4 € ey BOH R SEOTE T 50° 2,370 28
0008 Sdofio SrdsBad Dabadod. & HEAS o SrBBAS
(DEF0 V.

Options :
1
1. %
5 % 0.12
0.5
3.
T
4, %
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Question Number : 121 Question Id : 4509386681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angular momentum of an electron in a stationary state of Li** (Z =3) is 3h/7 . The radius and

energy of that stationary state are respectively
L (Z=3) S 28 DTS JOFS SH0h (35530 3. &8 Paron Bk
500, $Hen SO

Options :

3174 A, =545 w10 7]

1, %

6348 A, —545 % 10719 ]
2.

6348 A . +545 x 10718 ]
3, %

2116 A, =545 w1022 ]
4. %

Question Number : 122 Question Id : 4509386682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the pair of elements in which number of electrons in (n—1) shell 1s same

D 208 Hrosed [-1) §5)60 08 HSIS oS O[T Gotrdir
HBOSN

Options :

Fe. Mn



Zn. Fe

2. ®

K. Sc
3_ W

Mn. Cr
4. &

Question Number : 123 Question Id : 4509386683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I List-IT
A | Tonization enthalpy I |P<Si<Mg<Na
B | Metallic character I |I<N<O<F
C | Electron gain enthalpy I |B<Be<C<O<N
D | Electro negativity IV |[I<Br<F<(l

1506 3R 2e8dGtH08%

AL AL
A | sBrIBAS o)) | I |[P<Si<Mg<Na
B lf"SEC\,:jD djé‘g;m H I*‘-IN«:Z:O{:P
C [ doFs |mTsdogrd)) | M [B<Be<C<0<N
D | %y dcogered 8 IV |[I<Br<F<Ccl
Options :
A-IIT B-IV C-I D-II



A-TIT B-I C-IV D-II

2. %

A-IV B-II C-I D-III
3. ®

A-TV B-III C-I D-II
4. %

Question Number : 124 Question Id : 4509386684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of bond angles of the molecules SiCly. SO3. NHi. HgCls 1s

SiCls, SO3, NHs. HeCl @9£0069© DB 20065 86 (310
Options :

S03 = Si1Cl4 = NH3 > HgCl»

SiCly > NH3 = HgCl2 =S03
2. %

HgCl2»>S03> NH3 = 81Cl4
3. %

HgClp =803 > 81Cl4 > NH3
4. &

Question Number : 125 Question Id : 4509386685 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Observe the following structure
0=N-0:

(1) (@ (3)
The formal charges on the atoms 1. 2. 3 respectively are

508 QT8 20830508

O=N-0:
(1 @ (3)
DBATEDNYEN 1. 2.3 oD oSS 83370 SIMT

Options :

+1 0. -1
1. #

0 0. -1
2.9

-1 L 2 |
3. %

0 0, 0
4, %

Question Number : 126 Question Id : 4509386686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement-I: The ratio of the molar volume of a gas to that of an ideal gas at constant temperature
and pressure 1s called the compressibility factor.

Statement-1I: The RMS velocity of a gas is directly proportional to square root of T(K)

The correct answer 15

1506 BOLD ar§D5EN B SR

Tl d0dGS Hhefod, oF &MdS HovS Ty Irerd
DIN0TEFE, B38) PO D NNBSTEERS o A
S5 BT

52051 2,8 araide) RMS 50, TK) Seirers @S braard o 606006

OGS DT

Options :

Both statement-I and statement-II are correct

3° § §-1 DB O a5 E-TI O DE DI
1.¢

Both statement-I and statement-II are not correct

o520 §-T 0B a3 g §-IT BOCT® A8 QDN 5o
2. %

Statement-I 1s correct but statement-II not correct

- O° 551 DOADAE 55 a7 §E-IT SBADAE 5°¢DH

Statement-I is not correct but statement-II is correct

o $D 51 BRI 5°CN 7R o §WS-IT ABADE

Question Number : 127 Question Id : 4509386687 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At 133.33 K. the RMS velocity of an 1deal gas 1s

(M =0.083 kg mol':: R=8.3 Tmoll K1)

133.33 K Q). 2,8 e8¢5¢5)a°a06) RMS (50

(M =0.083 kg mol™; R=8.3 Tmol'l K )

Options :

200 m st
1. ¢

150 m s}

2000 m s

400 m 57!

Question Number : 128 Question Id : 4509386688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement I: In the decomposition of potassium chlorate. CI 1s reduced
Statement II: Reaction of Na with O» to form Na>O is a redox reaction

The correct answer 13

1505 BOCD 7§50 B ST

T 55- I SrErnoHo SBE DTrHoS, €1 § aHESE0 ToH0S
508~ II: 02 Na 2985 oSOE Nazx0 B0 2.8 B85 ) <988
HOTHS HSPTTSE

Options :
Both statements-I and II are correct

y M- 1 aDOAN g - I BOCH® D8QNND
1.

Both statements-I and IT are not correct

a5 §- T DB r s - 1T BOCHT DEADND S

2. %
Statement-I 1s correct but statement-II 1s not correct
I 5DE-1 ABANAE 520 ° 5 §- IT SBADAE 5°¢H
3. %
Statement-I 1s not correct but statement-II 1s correct
. OSEs-I QBADAE 5°CN 5°Q P §W§- IT DBADE
4,

Question Number : 129 Question Id : 4509386689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reaction

T(K)
2A,5(g) + By(g)—>2A,B(g) + 600 kJ

The standard enthalpy of formation (ﬂfH 9) of A)B (g) 1s
1BO& BB 5D HDBZOOTHHD
T(K)

2A,(g) + B,(g) 2A,B(g) + 600 kJ

ArB (g) B30Ey (DSea D030 JOGrO) (4,HO)

Options :

600 kJ mol™®
1. %

300 kJ mol!
2. %

—300 kJ mol !
3. v

—600 kJ mol!
4. %

Question Number : 130 Question Id : 4509386690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the molecule for which the enthalpy of atomization (AHH e] and bond dissociation

enthalpy (ﬂ pondH 9] are not equal

DBSre385e JOC;E"@,} (enthalpy of atomization) (A,H )< B 20F&

0T (BpongH®) o) BE)E Nairdos 56 A HBOTHW

Options :



1. %
Clo

2. %

3 % F2
CHj4

4.

Question Number : 131 Question Id : 4509386691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T(K)
Q CE———-

zu

K¢ for the reaction, B, (®) 1599.0. Ina 1 L closed flask two moles of B2 (g) is

heated to T (K). What is the concentration of B2 (g) (in mol L™) at equilibrium?

T(K)
A (@) By (8) 48550 Ke D 99.0. 5705 2.8 1 L 2w Boch 3 ©

By () D T (K) 5% 36 T, a0eRed 3¢ By (g) rehed (mol L1OS) 0eh?
Options :

0.02



Question Number : 132 Question Id : 4509386692 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
At 277, 100 mL of 0.4 M HCl is mixed with 100 mL of 0.5 M NaOH solution. To the resultant

solution. 800 mL of distilled water 1s added. What is the pH of final solution?

27°C 56, 100 mL © 0.4 MHCI Q 100 mL © 0.5 M NaOH & EOr. )8 (678

800 mL 36300 207 SR, A |Taieas) pH 0eh?

Options :

12

1. %

Question Number : 133 Question Id : 4509386693 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
‘X" on hydrolysis gives two products. One of them is solid. What is ‘X"?

X230 DIN00 Tod Boh SrEaT30 a0, FEES 2,88 sdrdo. X

RIAY



Options :

P4Oqo
% 2

SiCly
3. %

N*
4. %

Question Number : 134 Question Id : 4509386694 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ba, Ca. Sr form halide hydrates. Their formulae are BaCly.xH0. CaCly.yHy0. StCly.zH,0. The

values of x. . z respectively are

Ba. Ca. St €0 830 2FB& ©ed) G )TN, ¢S 3P0 BaClyxHy0, CaClhyH0.

$1CL.zH20. X, 1. 2 © 2NN DT,
Options :

2,66
1.4

8. 6,

[

8.6.6



6.4, 2

Question Number : 135 Question Id : 4509386695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Cl Cl Cl

Al by An)by

7 N\

Cl Cl

The bond angles by, b,, b; in the above structure are respectively (in ©)

=

2 DT065°D 06 §ETN by, by, by ST © OS)

o

Options :

79,101,118
1. %

118,101, 79
2. %

79,118, 101
3. %

11879 104
4. &

Question Number : 136 Question Id : 4509386696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following oxides is acidic in nature?

80O &858 ¢S B €350 (D598 ercH?
Options :

Ge(On
1.9

CO

PbO»

SnO

Question Number : 137 Question Id : 4509386697 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-I List-II
(F~ 10n concentration (effects on humans)
in drinking water)
A | <1ppm I | Harmful to bones
B |=2ppm II | Tooth decay
C |=10ppm IIT | Brown mottling of teeth
Correct answer is
180¢) e 2365 TAHoG
Q-1 &) _II
(F~ @050 MTChes (GDDO T (DTN0)
T A3
A |<lppm [ | Qed0EO8) FFA5G0
>2 ppm I | 599 S ea6b
C |=10ppm I | 5% (25 Borh
208200 80

Options

A - 111 B -1I C-1I
1. %

A - TIL B-L C-1I
2. %

A-TL B-L C-1II
3 %

A-TL B - III. C-1I
4. &

Question Number : 138 Question Id : 4509386698 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of nucleophiles in the following list 1s

CH3NH,. CHsCHO. C;Hs. CHsSH

806 DS SRS © SoWE

CHs;NH;, CHs;CHO, Cy;H4. CH3SH
Options:

3
1. %

-2

2. ¢

Question Number : 139 Question Id : 4509386699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alkene X (C4Hg) on reaction with HBr gave Y (C4HoBr). Reaction of Y with benzene in the

presence of anhydrous AlCI; gave Z which is resistant to oxidation with KMnOy4 - KOH. What are

X. Y. Z respectively?

2,8 89S X (CaHls) HBr & 19655008 Y (CebaBr) o )00, o8 AlCk Ded§ 08"

Y B0ER & 185508 Z D 300, KMnO4- KOH & e38)3567) Z A0HN08. X.

Y. Z 00 S0P Q?

Options :

1.



/J\_ /Kr ‘ @X
o
/K )\/ Br IL/;I/\I/
2. % ,
/Y ,;;f‘j/“mf"““x
/\//_ Br X
3. ®
Ll
ORGSR g N
4. ®

Question Number : 140 Question Id : 4509386700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid compound 1s formed by atoms of A (cations). B (cations) and O (anions). Atoms of O form
hep lattice. Atoms of A occupy 25% of tetrahedral holes and atoms of B occupy 50% octahedral

holes. What 1s the molecular formula of solid?

25 NJINT0 ASEIOITEN) BSLOITREN) B0 O(BI0TFEN)
DEIPENYOT SIBOA. 0 TENYEN hep ZPOTR) S IDTOW. A
DOSTENIEN 25% BT T|AO OO SEMDOUITT, B SEDEN 50%
35 orCO GO[ETOMN B|EMOTTON. IDITYe) D FDEr JO?

Options:

AB>0O4
1. %

ABO3

ABO>
3. ¢

ALBOy

Question Number : 141 Question Id : 4509386701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The density of nitric acid solution is 1.5 g mL. Its weight percentage is 68. What is the
approximate concentration (in mol L) of nitric acid? (N =14 u; 0 =16w; H=11)
1635 e300 (9620 RP0| 96 1.5 gmL O 5T e 68. F(E35%00 mied mol L1 ©¢
DT J0S? (N=14u; 0=16u: H=1u)

Options :

1. %



11.6
2_ e

18.2
3_ F

16.2
4.

Question Number : 142 Question Id : 4509386702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The osmotic pressure of sea water is 1.03 atm. Four experiments were carried as shown 1n table.

In which of the following experiments, pure water can be obtained in part-II of vessel.

a8 N (BTFEIGE DCBeIe5n 1.05 atm. HEES T2 DeSome renth (RPN
0T, 1§00 & NAFTOS, FSS R IS HAF N ©DOH?

piston

Table (¢3%)

= m = e . moa

-------

_—— - & m= m

piston

- e,

- - Sep Eater i
=7 o S =

—_— o =

SPM

Expt. No. | Pressure applied in part-I of Vessel

Pressure applied in part-IT of Vessel

I

10 atm

II

10 atm

I

15 atm

v

15 atm

Options:

I. III only
I, IIT o307 €5 230

1.4

IL. IV only
I, IV 307550

LIETL IV



IV only
TV 2507550

Question Number : 143 Question Id : 4509386703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Aqueous CuSOy solution was electrolysed by passing 2 amp of current for 10 min. What 1s the

weight (in g) of copper deposited at cathode? (Cu = 63 u; F = 96500 C mol ™)

2302008 5 & 10 DTS 2P CuS0420 T30S § 209 D3 ® DIed

L ]
0. SEG S8 A8 AN 520 2780 (g O ) 0eh?
(Cu=63u: F=96500 C mol™)

Options :

0.195

Question Number : 144 Question Id : 4509386704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



For a first order reaction. the concentration of reactant was reduced from 0.03 mol L™ to 0.02
mol L™ in 25 min. What is its rate (in mol L™2s72)?

2,8 B0 (5508 19550, 180SP@S8sY TPesed 25 DTS 0.03 mol LeH06 0.02
mol L1850 5008, 0 B (mol L5 i‘i)t’f}é} 2)0eh?

Options :

6.667 x 107°
1.¢

A 10~

6.667 x 107

§ % 1"

Question Number : 145 Question Id : 4509386705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘X" 1s a protecting colloid. The following data is obtained for preventing the coagulation of 10 mL

of gold sol to which 1 mL of 10% NaCl 1s added. What s the gold number of *X'?
X 2.8 HO68E SN, 10mL © 7O =S %, 1 mL © 10% NaCl & $)Deds)ch, 267
3085850 AarBott 1508 BFodsn ©dodod. X B, O Sows

2)06h?
Expt No. Weight of X (in mg) added to gold sol Coagulation
DA HoRg | FO S H EODS X B0 mgod) | 0SSy
Not prevented
1 24 . N
(QardotitB D)
Not prevented
2 23
(RarBodaGEBN)
Prevented
3 26
(Rar8002B080)
Prevented
4 27
(Rardoiadod)
Prevented
5 25
(Rar802B080)
Options :
24
1. %
5 % 26
3 % 27

4.+



Question Number : 146 Question Id : 4509386706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which sol is used as mtramuscular injection?

&) O & 08T 058 (intramuscular) QOB Q T P& D?
Options :

Antimony Sol

- S03T0 O
Silver sol
, % OO B O
Emulsion of milk of magnesia
DO €85 M) T DN
3. %
Gold sol
FO rd
4.

Question Number : 147 Question Id : 4509386707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reactions which occur in blast fumace at 500 — 800 K during extraction of iwon from haematite
are
B 08 D8 880 S 2 FOM &S 500-800K 56 38 Bsen
1. 3Fe03+C0 — 2Fes041 CO;
i.. Fey03+3C — 2Fe+3CO
. Fei0s4+4C0O — 3Fe+4C0;
iv. Fex03+CO — 2Fe O+ COy

Options :

1. 11, 111, 1V

1. ii. 111 only

2 %
i. 1v only
3, %
1. 111, 1v only
4.

Question Number : 148 Question Id : 4509386708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following reactions give phosphine?
1 Reaction of calcium phosphide with water

1.  Heating white phosphorous with concentrated NaOH solution in inert atmosphere
i, Heating red phosphorous with alkali

508 & BB50 PRI ) AN )D?
L 88 500 )6 O
i B0 TEGE0S M NaOH [(TSe08 80 )8R o St T
i, 500 S0 & I T

Options :

1. 11 only

i, i 375300
> % 1. 11, 111
i1. 111 only
ii. 1ii o377 €5 a0
3. % )
1. 111 only
i, 11 $307( €A
4, %

Question Number : 149 Question Id : 4509386709 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which transition metal does not form ‘MO’ type oxide? (M= transition metal)

2 HBHIBS S50 MO’ 855 8518 & DBIGTIE? (M = D838 S'570)



Options :

N
1. %
5 % Cr
Mn
3. %
4 Sc

Question Number : 150 Question Id : 4509386710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The paramagnetic complex 1on which has no unpaired electrons in tyg orbitals 15

tre 838)EFFIS 2,068 JO|TR €0 B HTCHAT) 0 H0Fa) BOTTS

Options :
[Fe(CN)g]*~
1. %
[FE‘(CN)G]E_
2. %
[Zn(NH;z)6]**
[Ni(NH3)6]*

4, &



Question Number : 151 Question Id : 4509386711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is an example for fibre?

BOB a7¢3S” DA IHBY 28 GTreTBea?

Options:

CHE_(I_‘H
o L

n

2. %
CH,— ¢ =CH—CH;
Cl
3 % 11
OC —@—m—o—cmcmo
11
4.9

Question Number : 152 Question Id : 4509386712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When glucose is oxidized with nitric acid the compound formed is

(1°5%5 3 F(€35 BeD0S 38158690 TOAODIYCED DG S50
Options :

Gluconic acid

(r5° Q5 e300

1. %

n-hexanoic acid

n-30°8 )3 005N 0

Sacharic acid

35" 05000000
3. v

Cyanohydrin

DOHS B
4. %

Question Number : 153 Question Id : 4509386713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of essential and non-essential amino acids from the following List respectively is

1806 DA 070 ) ¢ @3558 DO BRFIE NS BaFe) oS SEIT
Val. Gly. Leu, Lys. Pro. Ser

Options :

% 1



2.

!d
.

Question Number : 154 Question Id : 4509386714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following pair is not correctly matched?

180B ¢3S DB 2ed TOHDER 206 DE?
Options :

Salvarsan — to treat syphilis

P SR — DO 56 D85

1. %

Luminal — Antidepressant

DT — 05r0e3 BDV0E
2. ¢

Morphine — to treat cardiac pain

30,818 - HOT IV AIFBoTNEE

Acetylsalicylic acid — Antipyretic

i DVTO OV @800 — 2 507V HHOTE
4.



Question Number : 155 Question Id : 4509386715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alkene X (C4Hs) does not exhubit cis trans isomerism. Reaction of X with Bry in the presence

of UV light gave Y. What is Y?

$O)S X (CiHg) DR-ERS) TSI, HGH108. X, UV 08 $:05 08 By &

H8:S00 Y Q 8)GD0D. Y 20?

Options :

Br

Br

I

2 %
/Br\/
3. % /
/\l/\Bl'
Br
4, %

Question Number : 156 Question Id : 4509386716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The two reactions mvolved in the conversion of benzene diazonium chloride to diphenyl are
respectively

B0AS BOHE'AHD S DG D BIBO T 086506 FT Bo th85e DT

Options :

Swarts. Fittig

ATARRR A

1. %

Gatterman. Swarts

TeDN®. S8 )

2. %
Sandmeyer. Wurtz
06 HoNd. &6&
3 %
Sandmeyer. Fittig
. F0& N, DEIR
4.

Question Number : 157 Question Id : 4509386717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the reactions

H,C

(1) O3 <+Y
c=—CH - X+
H,c” > (2) ZwH,0
(1) dil NaOH
X+Y -
(2) A

The TUPAC name of °Z’ 1s
508 B850 DB8HEFOTDN

H,C
- (1) O3
_C=CH, ————= X+Y
H,C (2) Zw/H,0

(1)2OS NaOH
(2) A

o

X+ Y
‘Z> G308, TUPAC %00

Options :

But-1-en-3-one

223°53-1-8R80-3-20

4-Hydroxybutan-2-one
4338 )2  TIR-2-800

But-3-en-2-one

220°-3-83R-2-200

3.¢



1-Hydroxybutan-3-one

1-33°(C3° 8 )2 S BI-3-20 0
4. %

Question Number : 158 Question Id : 4509386718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consider the following reactions

18508 V5D DBMEIOTHW

N,ClI
10 Conc. HNOj;
= X ok
283K
Br, / H,0
Z
Y and Z respectively are
Y. Z €0 O
Options :
Picric acid (2.4.6 — Trinitrophenol. 2.4.6 — Tribromophenol

8 SN0 (2.4.6 - B IS D), 246 B (S D
1.¢

o — nitrophenol. p — bromophenol

0o - DS, p— |53 DS
2. &



p — Nitrophenol. o — bromophenol

p- D DD, 0 — |5 DO

2.4 — dinitrophenol. 2.4 — dibromophenol

2.4-BIE DO, 24-3 18D Dord
4. %

Question Number : 159 Question Id : 4509386719 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Anhy 1) CrOs/
+CHCl —2— » A — » B
AlCl, (CH3CO),0,.
273-283K
2) H;0". /\
The mcorrect statement about ‘B’ 1s
ST ) CrOy/
+CH(l ———= » A — » B
AlCl, (CH;C0),0.
273-283K
2) H;0°, A\

B 50 Q020H0D) N85 a5

Options :

It gives test with Tollens reagent

2O B ) 3508 HEEAN0S

1. %



It gives test with Fehling’s solution

20 DrOON (3738208 HBE NS

\._}-;2
It does not give test with NaOH + I solution
26 NaOH + I (£3°389088 DBE D356

3. %
It forms acid and alcohol with concentrated NaOH. followed by acidification
TS NaOH. €5 e50°5eh e3a05360 R 26 .00 £H8a5N
3023 O WO

4. %

Question Number : 160 Question Id : 4509386720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

| Br, / NaOH CHCl,
Benzamide - - N - > Y

alc. KOH

The conversion of X to Y 1s

Br, / NaOH CHCl;
BoRI6 = X »> ¥

FL T _f_ ""fﬁl!"‘h' E_: K OH

X 0 Y 1 08, 2585
Options:

Hoffmann reaction

e DD B



4.+

Etard reaction

Qe TS

Stephen reaction

D DES

Carbyl amine reaction

5200 Db S



